Unified Quiz 6S ID number (last four digits) SO LOTION

December 1, 2006
Quiz Instructions:

e One 8.5 x 11 crib sheet (both sides) allowed. No books or notes allowed.
e Calculators are not needed, and may not be used.

o Put the last 4 digits of your ID on each page of the exam.

e Read all questions carefully.

¢ Do all work for each problem on the two pages provided.

o Show intermediate results.

e Explain your work — don’t just write equations. Any problem (except
multiple choice) without an explanation can receive no better than a “B”
grade. '

e Partial credit will be given, but only when the intermediate results and
explanations are clear.

¢ Please be neat. It will be easier to identify correct or partially correct
responses when the response is neat.

e Show appropriate units with your final answers.

e Box your final answers.

Exam Scoring:

Problem 1 (40%)

Problem 2 (40%)

Problem 3 (20%)

Total




Problem 1 (40%) ID number (last four digits) _ Sor Lt i)

Find the Thevinin equivalent of the circuit
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Problem 1
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ID number (last four digits)
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Problem 2 (40%) ID number (last four digits) SoLOTIonN
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For the circuit above, calculate the node potentials e; and es.
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Problem 3 (20%) ID number (last four digits)_ S 0L uT N

The Thevinin equivalent resistance, Ry, of a circuit with a single pair of terminals can be
found by finding the equivalent resistance of the circuit at the terminals with all the voltage
sources replaced with short circuits and all the current sources replaced with open circuits.
Explain why.
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Problem 3 ID number (last four digits)
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